the anton nderli
: ym of unde
ﬁ“‘?‘ the given options : 5 e

He is fastidi
il very fastidious about his choice of

(A) Careless B
| ' C
(C) Indiscreet {D% T;:Jilf;l}!lﬂﬂﬁﬂ

2. i’u;lh%:mrmct form of the verb -
e

Plamed. person 'who to be

. AA) is

’ B

‘@ (C) were ED% ::l;

Which i ings i
incun'ecfg the following spellings is

(A) Beneficiary  (B) Journe
: y
(C) Aniversary (D) Amateur

Read the followin
g paragraph and
the following questions : {%!'. Eant; 5) i

India is marked by a diversity of physical
features Sﬁf:h as mountains, plateaus, plains,
coasts and islands. Standing as sentinels in the
north are the lﬂﬂ'_',-’ Sl'll:lw-cappad Hi.['['lﬂla}fasi
Him+alaya mean ‘the abode of snow’. The
Himalayan mountains are divided into three
main parallel ranges. The northemmost is the
Great Himalaya or Himadri. The world’s highest
peaks are located in this range. Middle Himalaya
or Himachal lies to the south of Himadri. Many
popular hill stations are situated here. The
Shiwalik is the southernmost range. The
northern Indian plains lie to the south of the
Himalayas. They are generally level and ﬂqn
These are formed by the alluvial deposits laid
down by the rivers — The IJldus,.'Ithﬂnga,"Ihe
Brahmaputra and their tributaries, These river
plains provide fertile land for cyltivahun. Tha: is
the reason for high concentration of population
in these plains.

4. Northern Indian Plains are rich in
" (A) Diamond mines
) lemdicpﬁ?tlsm

C) Co L

e iy
5. World’s highest peaks are located in the

{A) Middle Himalaya

P v e

e N -
@Kﬁﬁ+amaﬂtﬁﬁa.ﬂaﬁﬂ%;

A-BH s dfe A, Bt Aun
FHERE A B frar 2 3t A x B =
54 R 5 A, B &t 7 2, Prforfiaa § &
e AR P, Q w AT & 7

If A + B means A is the mother of B;
A — B means A is the brother of B;
A % B means A is the father of B and
A x B means A is the sister of B, which
of the following shows that P is the
maternal uncle of Q 7

(A) P+SxN-Q (B) Q-N+MxP
(C) P-M+NxQ (D) Q-5%P

o fiftes 5z W 8, '@+ # g
tl ‘@ ._1ﬁﬁﬁ3‘1t, ‘o’ '-:-‘m’tﬂﬁﬂ'lﬁ

3 9" *x° =l g 2 |

In a certain code language, ‘@’
represents ‘+’, ‘@@’ represents ', ‘a’
represents ‘+' and ‘0" represents *x’.
e s e

Find out the answer to the following
question : X .
89002100 D 504D 121 a11=2

(A) 62 (B) 58
(C) 205 (D) 158
wemaAt % f2y e e § | e wen T
it ;

Find out the wrong number in the given

sequencggfn L
58,50, 586, 611, €¥ )7, 600

ga-s1*"

(A) 600~—=<C 1B 611 °

(©) 634 (D) 605

17 9, 1998 %) qTe %1 H1= a1 27 o 7
(A) THER (B) €rER

(C) WTeTER (D) TEER

What was the day of the week on
17® June, 1998 ?

) Shiwalik range (A) Wednesday  (B) Monday
(©) Soutien (C) Tuesday () Thursday

2 ﬂmuﬁ\l'ﬁ—nfumﬂkj UC}ﬂ.:thﬁbuE

M‘“’a‘u‘g : m’xﬂj“’w—
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FOH GO Q weTa foa o 2
Recently, Shubhankar Sharma, Indian

golfer has recorded the best result at the

Open after finishing in tied-eighth position

at the. Royal Liverpool Golf Club in

Merseyside, England. In which year he was

conferred the Arjuna Award ?

(A) 2020 (B) 2016

(C) 2022 (D) 2018

A9 fow gy F @ HuA 3l IwH
foreard

IL.

(A) 2fe 27 At 131 11 SET e |
(B) af St frerd 1 e S R |
(D) af 7 A 1 3 1T e HE R
4{?’ 2 et Frepd 11 37700 F R |

s i the question below two statements
81 ='"  fllowed by two conclusions numbered 1
g9 -84~ and 1l are given. You have to take the

given two statements to be true even if
' from

given conclusions logically follows from
the two given statements,
commonly known facts.
Statements : All poles are guns. Some
boats are not poles.

22\~ Conclusions :

s 1w AT Wl W b i A i ) R

— i

aﬁ:mﬁmwﬂmzﬁwmﬁﬂﬁﬁ

o (ATFSG) # ¥ifeet & Sremm qee
]

Which among the following Government
of India undertaken Corporation has
become the first member to join “Asia
Transition Finance Study Group”
(ATFSG)?

(A) National Housing Bank
(B) India Infrastructure
Company Limited
(C) Power Finance Corporation Limited
(D) Industrial Finance Corporation

Limited

e # wéH-20 ¥ FAH FERIE F
2w, mmmm 2024 %

fore Prfefign § & fm 3 =1 7o
Hidt 2 e

Finance

(A) BT (B) FEL
(C) e (D) el
the closing ceremony of

Startup-20 at Gurugram, India officially
handed over the torch to which among
the following countries for the year
20247

(A) Brazil (B) France

(C) Germany +(D) Canada

YRa % ge e (FNe)
.o w |1 UEE i e
T R S , TfeAt, AFTRERE
wRa ¥ gars AEed § yen % g
o s HIg-uTi §-T5 F Y FA
Wh

ey
xon 1 is_launched by . Chief

Justice of India D.Y. Chandrac
that allows advc(igtnes liti giﬂ

to st QR code-

mt:ql:e the gupreme Court ut? India ? .
(A) 9™ / SuPranam

(B) / SuAbhivadan

(C) g&whT / SuSatkar

(D) §&FaY / SuSwagatam
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T R, 3 e o -
: RIIG =) I B R — o —
ﬁﬁﬁﬁﬂmﬁﬁmhsi{ A “Yq Fitg FWARE” WA & et
T e e g e 3 § i T /gt 5 A ferm 22
TR F D TEH e ey (A) fafepn (B) “&@
R e (NCAP) wi ‘(%} mW'ldI'f )s w situated
aenam 1i€ danc 18 51 In
| NCAP %1 70f %9 s | which of the }uuowing State/UTs of India ?
(A) = FR e Mewm (G5 Agears + D). Fasmrm & Koshere
(B) <% stz wemm 19. W& Wy ¥ e eTee wE
(C) Y ¥R 385z gidm A o #gmmwﬁ?
(D) ¥R Itz o (A) HTeEA % efey 99 | 01 F7a Hi 23
Recied : ¥ Q5 forg &f 3l 60 ad A &m & |
- ently, Union Minister of Road (B) A & ety a8 | 01 T Hi 2]
oo port and Highways Shri Nitin T R R E st 60 A FH A |
adkari launched the Bharat NCAP (C) HTaeH & Feigt ad § 01 F=adl @i 18
almmg to enhance road safety by ﬁ@mﬁ’lﬁ,ﬁﬁtﬁsﬂﬁmﬁl
elevating vehicle safety standards for up (D) ATHEH % dherel 4 § 01 SHAd B 21
to 3.5-tonne vehicles in India. Give: full TR o s s awa# |
form of NCAP. What is the age limit for females in

(A) New Car Acknowledge Production
(B) New Car Assessment Production
(&Y New Car Assessment Portal

(D) New Car Assessment Programme

e oo & Piefofea § & few & A

SR F1 100 R er o wem & for

T~ STRRERT 2Tk B ! o < T R 2
(A) BRI (B) &

“Mukhyamantri Ladli Behna Yojana”
implemented in Madhya Pradesh ?
(AE Must have completed 23 years as on

01 January in the calendar year of

lication and less than 60 years.
~(®) Mu

ust have completed 21 years as on

~* 01 January in the calendar year of
-application and less than 60 years.

(C) Must have completed 18 years as on

01 January in the calendar year of
application and less than 65 years.

(D) l'v]iust have completed 21 years as on

01 January in the calendar year of

Syt application and less than 58 years.

(€ FIGEN o ol 20, R R 3 v g TR %
Indo-US task force has been set up to PMI 2R R far | a®
elevate trade in which of the foloving et e 8 e S e
gector to $100 billion in next decade ? _ ﬂﬂﬁﬁm‘wmm‘t?
(A) Computer Sciencer (A) WS (B{: ,a;geg(:%{ ?magrD}bﬂ‘; G
b Medicmf Egﬁeﬂia E:flard for “Mjc;n Project of
(C) Electronics the Year”. This Project is “Instruction,
(D) Space Dtstt;ﬁ}uﬁ S&fdsntcn;;l i:?m !i.:\r?c life of which

! u .u .

@ ﬁwmm*rﬁaamtmm Kl (A) %ﬁgp (B%&M{%Daig)))%‘lﬁhmt

S ? (48
o Pk HGH @ T FAH T T R Y AN SR
(A AT ®) : FAEF AN TR _
Cicl (D) T8 Name the annual ftraining exercise
(©) cer treatment embarked by Western Air Command of
World’s first 7-minute 8Lt ey ? Indian Air Force (IAF) recently. - +
ab” to be rolled out in WhICH 70 (A) €8 /Tanday (B) Wi/ Swastik
(A) UAE (B) Eng ;’1 (C) Tt / Trishul (D) ¥ / Shankh
(C) China (D) U.S.A.



13.

24.

@

R L
Prftiad 1 @ feg e W R 8 2
(A) WI9TE, HET YeH (B) e, HACH

(C) WER, TETta (D) WS, FWEE

The headquarters of “Central Institute of
Indian Languages” is situated at which
of the following places 7

(A) Bhopal, Madhya Pradesh
(B) Mysuru, Kamataka

(C) Manesar, Gurgaon

(D) Mumbai, Maharashtra

%ﬁwm%mﬁﬂaﬁ@a“ﬂm
ufe”, @ o 2021 # ! fava WO
wre WA e T o, e
ﬁnmﬁ%ﬁﬁam%:w%
e e A ?

4B) 78

E SRR
v (D) =&

.TC] wHHad

‘Ramappa Temple” located in Palampet
vﬂl:ﬁEfTal state that was declared
as SCO World Heritage Site in the
yﬂrzﬂzl,hadbecnhlﬂtdmpgmendcof
which of the following dynasties ?

(A) Vijayanagara (B) Musunuri

(C) Kakatiyan (D) Bahmani
yrd HY & e A I w6
fafes v & | % & AEd
gty gr i T R |

The Prime Minister and the other
Ministers of the Indian Union are
appointed by the President under

of the Consfitution of India.

(A) 3%/ Article 70 (B) 3388/ Article 73
() IR Article 75(D) T2/ Aticle 72
' WA ﬁ:mﬁw?m 5 ﬂﬁmg

T /g FUTEAT

n':ﬂé'r ue QAT -G Hen & 7

(A) F (B) ffdem

(C) T (D) 3 W
“Koothu" is a socio-religious art performed
in Koothambalam temple in which of the
following State/UTs of India ?

(A) Kerala (B) Sikkim
(C) Telangana (D) Andhra Pradesh

29.

30.

ey g R T
FR2 ::;ﬂﬂmta ¥ fefefad i a e
aifgea @ 27
(A) B9 (B) wifged
% adai” 18 {aD}w of epic
Rde i longs to

ion by Kon Velir. It belongs
proportion by | owing lterature of India
(A) Kannada Literature

B) Telugu Literature
H Malayalam Literature
(D) Tamil Literature

mmm:maiwﬁ?ﬁﬁﬂ%mﬁﬁ
frg T qEET 1 A WDt 3id
=@ & e T ?

(A) it =i & 111

Which of the following gallantry awards
was renamed as “Shaurya Chakra” in the
year 1967 by Government of India ?

(A) Ashoka Chakra Class-III

(B) Ashoka Chakra Class-I

(C) Mahavir Chakra s

(D) Ashoka Chakra Class-I1

et wER w1 PR e
(OPCW) H forea wreea Tg & 2

How many member states are there in

the “Organisation for the Prohibiti
Chemical W r ibition of

" (OPC
(A) 203 (B) 19 (c() 193 ?) 194
fr=fafas 1 & ®5F godE i it

T R 2
B) Tl

(A) HeGT™H
(C) fead (D) S
is an official

Which of the following

language of the Maldives ?

(A) Malayalam  (B) Dari

(€) Divehi (D) Dzongkha
g frafea 3 @ R T A o

R
(A) =ER (B) ®reeam
(T%) q\l;ﬂu:i (D}) Hafea

e “Pula” is th 1 ctn'mm}"
which of :he Itguilumu:g:lnn'iﬂ ?

(A) Myanmar
(©) Polmd: (B Compoat

of

I —
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|31, it sedge aoait @ 9 1 &

yirgw % forg i SO 87
(A) quTs F1 wegn 1 A IE

(B) ®n it feygyor w2 - 3 WoFd

A BA AR ?

-
(C) e wre, S
U & 744

(A) FeaTesal & T§1 A9

©)

(B) T 3R i i & wEAa
&

wiaE W Eaa
(D) ¥= ffta 3 Tg@

A (. €. 36-40)

2. v s e T
| arE & i 3 e Y & e £
(A Teriquy 3iv fedaor o1& -39 W94

o 7 il et

Lﬂdmimmmﬁaﬁwﬂﬁﬂﬁ

(C) w 3i ain wreg, — AforeR FHK 3T ¥d
(D) frdewr it wn vz ~forep 3R foreh e

33, TR 2§ wEEEe SEgE s |

A) ufem afedl, gene, Ge% 991 ER
: A F B G T W T
MW%M%ﬁﬂ
=l
(B) W&l . W g
s AursTaa g A @
(D) et 7@ IR Toa-FEE FEE
34, T FET W F A A A # 2
LEGH
B) w3-fer@ 3w T ferdie FegEET
{ FrarraTe UE aurEaa qfeeel 71
@am T w1 I9EM FA
¥ b B
35, WO % WO o 6 P H w1 R 2
(A) & W TGH w4 % forg fomm
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faftry el W Em i 3 % o e
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(A) afifss wrel T Em ZH-T0 6 S
T F T

Ira & 3R FTE
Admza g |

(B) frarh i % 98 7 9 & 3k =R
g 2 % irgamm s g |

(C) &l % 9re M, JFT 3 =l w0
T WY H HHHA B il

D))/ AT, FEGT, IIET, FEEE
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THBIRE

v 7 2 oft el 1w & e AR

e wd Al R ¢ _

(A) Tl ¥ w3 e i F o s i
TR SR I TG -EH R WS W |
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(C) Tfrt = fafrean |
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A SIRZC ) B S I PR P OIS
443 G IEROVPITOR b "
vy B /P ——— ” %} ,-*:%;.G“Sﬁoﬂ e \o¥, @ 2,69 \ae_
O v 0% 2 % 5
T A5 2 202,351 3 AT A
& 1 o W sy
am%:wﬁ ) 2022%3“;,.%5 45. o a6l & HrewE QR T LR A T
Q. 4145 : The o (& n, 82 What is the total number of 'shoes sales of
Chart shows tha given Line Data §0_Kolkata store, Patna store and Ranchi store
stores in six m%mlﬁﬂfﬂm n Intﬂmun A?ﬁ together fﬂrmreeygm?
]crmt cities Ko ) from six WIGSU (B) 1140 (C) 1820 (D) 1250
: V. 46-50 : UH &% ¥ U= $Hcie U9 (A, B
S Ey St i aede T (P,0,. S A T) 38
gt | TRE -9 UeiE $I II8Y g W
wret I § o gEa TE-wE Y Saede T
T @reht e e 3 % Wik 1 gwien & 99 v
e mﬁﬂﬂm= 1000 e
e Pumd Dhesiad Ranchi Asarwol - 9159 UH HY Giew
“0%1. ¥ 2020 ¥ Fom = = B L T e s i
qq%ﬁﬂmaﬁznm?ﬁftg sty § T R T T e Ee W
S R | e £
= is the ratio of average sales of shoes TN T e e i s 0
all th o of ¢ and E) and : pes (A, B,C,D
oo S e i ey s Sl
f‘“‘} 121/253 a5 the percentage of th tank flled by cach et pip
' C) 122216 24 when all the inlet pipes are opened togeth  he
/43 ¢ | second pie-chart pened together and the
ﬁ 42, ol % forg o R A g Aol wp ok STPUeC e e e
g,#{'f’ Iut & ﬁ‘ﬂ FETEE ®R ?ﬁ ff1 |7 outlet pipes are opened tﬂﬂe‘!her?lpc when all the
69"9 e ? ¥?m1$“¢iwﬂfmcm=1mﬁm
is the ratio of th ime taken to fill the tank - :
! store for tﬁree g:ars :omtlt: ianlt:? ggﬁ—:% are opened together =2 mmﬁg all the inlet pipes
Asansol store for three years ? Time taken to empty the tank when all the outlet
. (A)30/61 W 190/325 (&ITZ’ISQ(D)SW&G pipes are opened together = 1.6 minutes
Wt m # o s e
L% ™ gtﬁag:éﬂr ®R | mﬁ; qil & | percratge ol Toak Fiks D e bz B
o), B o o e b il
Z 3k Tt @R W Prer Fo ek
7 e feper wfer @ 7
J«tﬁ Total number of shoes sales on Gaya store
and Patna store together for years is
, ximately what percent of the total sales
of Dhanbad store and Ranchi store together
Gq" f years 7
80.51% (B)72.23% (C}Eﬁg:xﬁ %)3?6.‘?5%
\ 44, 2021 ¥ e R, T @z | 46 R TETA,B,D,R IS M TH U W
Eﬁtﬂ@ﬁsﬂmhﬁlmmm, ﬁmwmﬁhﬂﬂﬁﬁﬁ%m-
% 2022 & Tt ©R T T 3 T RN e
~ o e a1 2 7 X . |
o @ mpaqunoﬁheavmsesalunfﬁhoam ,,,2 Find the approximate time taken to fill
Kommmmwnhmbﬁm tank if pipes A, B, D, R and S are ope
o B ST T | 6\ Rea
' ; b .
A 129.03 % %3 86.12 % 4:?\'(&) 9.2 e /minutes  (B) 18 o / minu
l-—__s [T ——T T -




o i e B I L S A A R

.t Fe Wi St AEeE TR O € | Q 51-55 ¢ Study the
@Hmﬂ?ﬁ@h‘@?ﬂ@ﬁﬁﬁ‘ﬁm | answer the questions o
g T I | | Table 1 shows the ik
£ all the inlet pipes and the outlet pipes are Jmport of crude oil of 5 cout -
opened together then find the time taken to § Table 2 shows the percentage I
empty the full tank. Export and Import of
(A) 12 e /minutes  (B) g {2 / minutes Study the tables and answer e
(C) 20 %2/ minutes (D) 5 Fe/minutes § Note: Cmﬁ;,g:ﬁgducnnnflm't*wm 6

48, FHEwAH St qTey ¢ gro fér e 'e arferer/Tablel:
ﬁﬂaﬁémnmme%ﬁﬂﬂ 2% / Country Feared /
S 2wl SO & e TEe R T | uction
maﬂ{aﬁml"ammmm% |y / 2}935
Iy ¥ I T4 DI | hl 'Fhfghanistan fss
Find the ratio of the sum of the time taken aeTed |/ 1400
by pipe C alone and time taken by pipe D ;1 1adesh HE“’
alone to fill the tank to the sum of the ime Bangla
taken by pipe R ala;& and time taken by T f,[¥g™/Bhutan 2000+
alone to emp the tank. o /India 22001 {
(A) 16:17 (%) 8:15 (C) 9:13 (D) 79 e Maldives 700 1k 500,
W

4. e B 3R C 7 T w3 v & R et/ Table 2 :

wmw&naﬂmw&mnﬁﬁ & p—
=it g & e fraa e st R 7 b Pradiittion
(A) 2.89 e (B) 3.5 P ST/ | 20% | 15% | 18%
(C) 42 Fme (D) 167 fire phese il acze | g0
The time taken by pipes B and C together to s
fill the tank is approximately how many / 25% 24% 22% ( <.
rfngmsdn%m E:ﬂn ae time taken by pipes | |Bangladesh ase | yqe | 366 | 1
and Et er ° el
EA; 2,89 minutes EB; 3.5 minutes ¥ / Bhutan 25%“; 2598 20% 140
C) 42 minutes (D) 1.67 minutes YTE / India 298| 200 15% 4)° 2
so, Y P 3 R W0 UF @ ¥ wreht & A M"Eal'it,” 24;’""‘“ 25'52 2% | v W
fore e FwE %1 99 Q, S 3N T T T A o= WS | sae e
S el @ 3§ g T g @ seE = o Sl ZOZDﬁmﬂatﬁﬁﬁﬁaﬁmfiﬁ
g ? U RIR 7 158 S840

What will be the ratio of the time taken by What is the average consumption of crude
pipes P and R together to empty the tank to §1° oil in each of the fivg countries in.?.ggﬁ 2

: ; <5 ol
e oy AR P < o (A) 2200 (B) 1200 (C) 2400 () 1680 263
(A) 11:14(B) 5:11 (C)14:11 (D)11:8 52. 2022 ¥ W% ufe 2w § = de 6t 3iEa

e 1 A bl L 5
W. 51-55; I g Fit AT VI is the average consumption of o
:naﬁqqqgg:ﬁa;mi: nﬂmmhnfﬂmﬁvummimmmw;ﬂa 1SS
atfererT 1, 2020 3 5 29 & e 4w & Ieawed, e (4) 2054 (B) 512 (C) 1568 (D) 1024 :‘
aﬂzmﬁmﬁﬂt,mﬁimz, soo0 @ | 53 2020 # uisl 39t %1 e W Frafa- s
2022 T Fg::ﬁ:gm ﬁ;;ﬂ afi mag mw?:['m:[ht ? -
wftrea i'ﬂiﬁ'lﬂ & JAEIH am.“’xpﬂﬂtnim ct ratio of th
i el 6 I | Gy Sm‘qﬂmﬁwsetherinzupz%'rm” ;
A mmj?qm+amm_—ﬁﬂh \ (€) 13175 %{ ‘{!,iif‘;
e A %:} \\© ? e 1159 O

4 j_’o"’ \ 6 X e ﬁ.-ﬁﬂ Y .-}-E"Ef MN2
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- h“-'-h.
o b raa
T S - g

42022 F, Fraferfen 2wt & § fa oo T e
¥ h —._.,._-__-_ . l'
m_mmmmm?‘*’ e T e Y iz (4 U
E;;/‘EF" (B) m’.ﬂﬁﬁ!ﬁ Person / \Tl'-ﬁﬁﬂﬁ tm) / The
: ales ti f wat
o e ), il s
PO > Whlﬂl'll. Cﬂ“ﬂtﬁ}":S il‘npurt to s pure milk)
the fz;?op‘:::ln ratio Wwas h[ghESt among A 0% 30%
(A) Bhiitag c“““t“('"’ﬂs)? o B | 10% 10%
(C) Maldi ghanistan C_ [ 10% 15%
i (D) Bangladesh g 10% 18%
S5. 2020 | 2022 7% F= AW € 3 E_| 30% zg/
'gﬁﬁ'lﬂ @9q 20% 12%
© 0 el e g TP TILE
U gy #I "z ;=
@ @t | LD
The . (D) m Suppose, A, B and C mix their solutions in
percentage increase in the crude oil one vessel then what would be the
consumption from 2020 to 2022, is highest concentration of milk in the new solution ?
for which among the following countries ? (approximately)
(A) Bhutan (B) Afghanistan (A) 83.55% (B) 75.2%
(C) Maldives (D) Bangladesh (C) 89.65% (D) 78.21%
¥. 56-60 : Ffeiiem o =1 @ emgs | 87 W S g e o e e o
et N A R e v 36 R Feerra Ten ? ()
How many total litres of water was added by
M%msm?ﬂam tl“ﬁ@ﬁl all the persons together ? (approximately) -
40% B8 FAAT-3AT (A,B,C,D,E,F) %t (A) 456 (B) 469 (C) 478 (D)450
37 & 3R FE QU FTHAW 60% TE AN G | g5 afey A 3 s C g e e
% IdiT HeaT # | Y4 SRR, A,B,C,D.E | e e ¥ o o s R 7 () '
3R F 3 gu & arft frema € | = & s anferen What is the difference between the total
T TR BE S -3TeT SAfedl Hi 49 T gY quantity of water added by Person A and
faghl #1 vl & &9 o quidt & 3@ that of Person C 7 (approximately)
::fﬁaﬁﬁﬁmmmwﬁqmm (A) 73 #et/liwres  (B) SﬁFﬁEIfl’ftrts
%mmﬁmﬁth (C) 75 +e/litres (D) 65 #Ie/ litres
Q. 56-60 : Study the following table chart | g9, = C gm fiveme e T i F wEN AN
carefully and answer the questions given below - = E g freme e e 6 5 5
Akshay has 5000 litres of pure milk. He Haiftrg AT 41 R ? |
lIs 40% of the total milk to six different What is the respective ratio of the total
i F) and the remaining quantity of water added by Person C and the
persons (A, B, C, D, E’. : ) R ho total quantity of water added by Person E? °
60% of total milk he utilizes in his own Shop. (A) 83 ;285 (B) 8:34
Each person, A, B, C, D, E and F mixes watct () 3:17 (D) 81:287
: :Ik. The table given below shows the
su;lpurz;'mmﬁk to six different persons by 1 60, freffas # & R 1@ Q0 § TR W WO
Ak:lilﬂy as a percentage of total sales am:t:: iimﬁ)mme folfnwing added least
: g on
also shows the cnncmt.l‘aﬂm thw::'c:h: = qua?ltit:'u(liﬂ ﬁm) of water in pure milk ?
addinswaterinpm'““lkb”“ (A)D @®B)B ©OF (D)C
W" e WA SRR T——-"-___H 2 ' *
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63.

e i et AT T F CURCEE
et ¥ e ER R

(A) femme it TEt (B) e AN o
(C) =@ 3 e (D) =H 3 gags
Rigveda contains dialogue between 3
sage named Vishvamitra and which two
rivers !

(A) Chenab and Ravi

(B) Sutlej and Chenab

(C) Beas and Jhelum
(D) Beas and Sutle)

R |
(mmuﬁ)ﬁamﬁﬁﬂlﬂ!ﬂ,ﬂqm
mmmaﬁmﬂﬂnm?

(B) Far

: (or _ principal
minister), which city became the capital of

(A) Nashik (B) Satara
(C) Poona (Pune) (D) Nagpur

mwﬁtaﬁr*&ﬂ“%mﬂmaﬁ

Mahavir Swami became known as
«Jina”, what does “Jina" mean ?

(A) The God (B) The Conqueror
(C) Non-violent (D) The great soul

wueﬁvcmajurpoiiﬁcalcmmumme
Mauryan empire including the capital
Pataliputra and other four provincial
centres, Which among the following was
not the provincial centre 7

(A) Suvamagiri  (B) Taxila .

(C) Indraprastha ) Ujjaiyini

e ————

|

|
|

67.

i e AT e AT

11

(D) o, TRl

who among the following had exhorted
his colleagues to T ise that
Constituent Assembly was British-made
and was “working on the British plans as
the British liked it to be worked out” ?

(A) Abdur Nishtar

(B) Sardar Vallabhbhai Patel
(©) Somnath Lahiri '
(D) C. Rajagopalachari

R @ iR Adiee JEE 3 e
T i T R W % o S0
¥ iR Preffea § 8w terifes T
=1 7T feRan o ? |

(A) Trgem aiftrfere s g
B) f& 3femm #fm

(€) T afma YefiSeht wEifee™

(D) T&T™ 91

Chittaranjan Das & Motilal Nehru had

formed which of the following political
parties within the Congress tuga?;ue for
a return to council politics ?
(A) Hindustan  Socialist Republic

Association

(B) The Indian League
(C) The Bombay Presidency Association

(D) Swaraj Party

L
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68.

69.

70.

71.

[
T I iy

Bred (R
P 3 3 o T

S o e
4 3 o a3 L qu fiffa @@ =4 W@ F
mﬁmm/m{ﬁﬁm 1 8 oy T /ganflE wew 1
(A) T B) 3w ot ¢
© By (D) ofem wme ) TrN S . (@) i
Shirui (Siroy) Lilly s the only terrestrial ©) sfem D) gt
tlly tound in which of the following Bandel Church  constructed by
states of India ? Portuguese is located in which of the
(A) Manipur (B) Assam following states/UTs of India ?
(C) Tripura (D) West Bengal Eg;‘ ‘g’;st Bengal (B) Goa
i 1 T St w6 gon e e e
nmwhﬂﬁm%rmaﬁ%m% 73. “3fFM ver wra ¥ Prefafes & | e
AY-9 WUS & @ ® arEgm E R AT i
AR & FA 6 AEEFA F a5 (A) T (B) TeIH
FTvar e o 7 (C) wErE (D) W4 weu
(A) e (B) s “Oriya Plateau” is situated in which of
(C) AR (D) @ER the following states of India ?
Where was the session of the Congress (A) Kamnataka  (B) Rajasthan
had taken place in which Mahaﬂ:{r)na (C) Maharashtra (D) Madhya Pradesh
Gandhi inced other lead ut
th:n neeg mtl;mstart ﬂa c;u;i;;;e;ﬁun 74. ¥ g ) yea # afveg & add EEl
movement in support of Khilafat as well astFrFT O R?
as swaraj ? (A) s Sham
Bomb
) eor | (D) Tahos. @ e ﬂﬂ?ﬂ;ﬁﬂ(;ﬁm’(ﬁ) )

C) ~ufeem AT
frfafea § @ S “gas g 9 ((D)wm'amgqf@iam
mmﬂmmwﬁma Whatcausesrainfa_lluntheuuqstn_lmas
oft T e 87 of “Tamifl Nadu in the beginning of

ters
(A) LISIEY WW il KI; Temperate Cyclones
(B) ikl m,ﬂ;—nw (B) North-Eastern Monsoon
(©) wi e hish (C) South-West Monsoon
%)m am;}ng the fnllu“'ilgﬁ; dl“'r;:f ga;hsﬁ (D) Boml A Citiessn
“Khudai Khi THR &
gﬁniiflsgfnﬂ;in as BadshahKhan? | 75, (e *ﬁm R, I8
(A) Maulana Abul Kalam Azad pEIECAIC
(B) Syed Ahmed Khan (A) T I
(C) Khan Abdul Gl}aﬂ'al‘ Khan (B) T&h I AT :
(D) Hakim Ajmﬂl Khan : (C) ﬁg (‘ﬂ?ﬂd'l) AT
1913 4 f& mlg gl ® qEIe %cﬂf of granite is fnundip]alom
— % (B) Gl district 0 kRg,lit_l'lt:ﬂ ?

et e Blac 1 :
§$§ 7 wifeeh! (D)G Gar  Party’s 8.3 Rakhee Green Granite
The  Hindustan :t in 1913. (C) Rosy Pink Granite
h Was % B) Delhi_ || (o Mesry Oald iR X

c1SCO

(C) San Fran ) e ¢



iy s [ RSEEE] IR ¥ = il e N = e i el
R £ i s BT BN ET Eid [ =i | 1] [ L]

" 3y <ot e A (FRP) R

(D) TEA
Who app
Price (FRP) of sugarcanc ? .
(A) Cabinet Committee on Economic
S f Marketing and
1 ar
& ﬁl;;gﬂgi Miﬂl'listl'}’ of Agriculture
(C) Commission for Agricultural Costs
and Prices
(D) The National
Kanpur
TgPA A TH q%aﬁzr S
3R g g 3 8, e
g T T F AR (T G T)
A TTR?
(A) 3 AT (@) A, 2017
(B) WTHTg J&" §EAH
rfesar Afuad :
(D) wETeHT T TEE veftor ST TR

Sugar Institute,

77.

Which of the following is an Indian
Labour Law and Social Security measure

aimed at guaranteeing the “Right to

work” ?

(A) The Payment of
(Amendment) Act, 2017

(B) Indian Institute of Management Act

(C) Citizenship Act

(D) Mahatma Gandhi National Rural
Employment Guarantee Act

wgul it wra o Prafafes § @ A
M & 3 forsprm % forg rdem @ 7
() ﬂiliaunaﬂm(g) AT
() foered seeA (D) 3ATe] IETEH
“Golden Revolution” is responsible for

the development in which of following
agriculture sector in India ?

(A) Petroleum Production
(B) Horticulture

(C) 0il seed Production
(D) Potato Production

78.

|

|

80.

81.

82.

M

13

- (A) Section 135

-r“-_..--ﬂ

AP

ament can ot MR
]I?v[airilizttgr by the president for 8 maxim

riod of ht:;f man
A) 9 months
EC) 12 months

Where is
Regulatory &
located ? ;
(A) Chennai . (B) Mumbal
(C) Hyderabad (D) New Delh

ﬁ%ﬁﬁﬁ%ﬁmﬁqﬁtﬂﬁmﬁm

(C) ez T - GeEds
A TAIRITEH).

(D) = &=

Which of the fulluwing is not a type of
Depository Institution |

(A% Commercial Banks

(B NﬁaﬂAED— |
(C) Credit Co-operative Societies
(D) Loan Association

Wi A utEE, 1947 % i@
BR % Y WA T AR &4 T 3R
sy fRuymdsst ¥ 9@ E@R
wfufm, 1935 6 fFa g/ % yEuHEl %
TEd 1947 § 1949 T HTH §91C, 7
(A) BT 135 (B) w100
(C) 9T 130 (D) =T 101
With the passing of the Indiar
Indegepdencc Act 1947 India became ¢
Dominion and the Dominion Legislatur:
made laws from 1947 to 1949 under th:
rovisions of which section of th
overnment of India Act 1935 2
(B) Section 100
(D) Section 101

*

(C)__Scctinn 130

i s
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39 I AT F S —————
e i o 8 T - SO
TS S Fram iy g 3 86.  Frafefiga i @ # @ ariafes @i dee &
HET ew | R wmdnmme s -
(;} H5TH 39 ey (A) w2 (B) " Eﬁ
(B) *ﬁ. S I Aoy (C) #ften (D) &H
©) Im mﬁm Which of the following is the only Dwarf -
(D) faveht 3= =y F:}m;llocatedmme inner Solar System ?
N L uto B
ame the high court that has jurisdicfion (C) Haumea [D} ke
over the Union Territory of th (D) Ceres
Andaman and Nicobar Islands, | 8. wEd e e gy s ey o
{A)The Madras High Court (A) 78 T 3 -
(B) The Calcutta High Court mﬁmm
(C) The Andhra Pradesh High Court t
(D) The Delhi High Court | (B) AW TH A ¥ |
_ | (C) 7& 3w & w1 T 3 & 3k yeh
84. wuTrd U wewat % wrflrm % fvg wma T A S # |
* w9 T 739l s 743w (D) T8 o wfer ww } |
ENIE 9 T fman ma 7 Which‘ one of the following is correct
(A) R, 1992 (B) s, 1973 Vi e Y
(©) fewmy, 1973 (D) 74w, 1952 (Gl iR e Bradiog pethogens
When 73 and 74" Constitutional (B) It houses the vocal cords.
amendments were passed by the (C) It is an organ made of cartilage and
Parliament of India for the existence of connects the pharynx to the trachea.
Panchayati Raj Institutions ? (D) It is a bony box.
(A) December, 1992 (B) October, 1973
(C) December, 1973(D) November, 1952 | 88. o 31T effiren fas s s wiemes & ¢
(A) e (B) W W
85, =¥ 1928 § Widterer JgE @R G (C) T (D) 8=
Prefafias § & #19 a1 it/ Milk of Magnesia is which type of colloid ?
e fapan man 417? (A) Aerosol (B) Solid Sol
(A) e CEE EE TR IDIER L) (C) Emulsion (D) Sol
(B) Foue fare g9, frfafga § @ ¥ & Frtm N
: Iz favas A TR T St W g R 7
(©) fom EDEIECUEE
(D) i w7 for | ) M (@) R
: the following acts/bills (C) WA (D) T
Whlﬂh among i | Nehru 4 -
were proposed by the Motila Which of the following organic
Committee in the year 1928.7 compound coagulates the protoplasm in
iminal Tribes Act the human body ? ,
E§§ ﬁﬂ%ﬂ: - (A) Methanal  (B) Methanoic Acid
(©) Tindh Land Aviation Bill . (C) Propanone (D) Ethanol
3 - ___.__'_.—__.._-—_nn—d—
(D) Billof rights = e o



m_ -‘;EE;_J " -,ﬂﬁ ,_..1-1336 o T -
810 % "f;g?xﬁ Tige S, = &1 24% ¥ T
"""""""""""""""""""""""""""""""""" » I 95, Wﬁmﬁﬂmmmﬁm
0081 _ 0484 25 i@ : A 15% 550/, TATA T #HN
90. 5 nE 1 ﬂﬂ ﬁ ﬁ a8 mm
00064 625 2, 2 g % & | I
0081 _ 0484 25 ... 20% e T & I
Square root of Zre X798~ 211 2 10736 ¥ & | f&= ¢l
_ ‘ 55 (D) 0.34 fpaA & 7 thly salary
(A) 0.75 (B) 045 (C) 0.55 ( % 4% of her monthly
(=9t + 4! - 91yl AR : Djye ap:::i :’5*5 on thl.': clducatmn of ::;
91 ( il -1 9—1}‘1 is * on fOOd aining salafY:
The value of 87 =97') = E} 25 ' children. Of the rcmminmmt and 20%
(A) 15 (B) 20 %m {W})‘ i spends 25% on e;; s now left Wi
9. Tgan (e H ™ L & on conveystet:. = he monthly salary of
Pt 3 & A 1 et S € 2 10,736. What 18 £1 £S5 - 1o
S Divya? 0001 160
? (A) afaaiere 1 (B) 0 (B) 7 32,
Bt (O wew o ©) W (&) T30 (D) 130200
LL |- Which of the following acids 1s presen () e HygaEa e ?
« T At - ing hair of nettle leaves 7 e 3 & fora famed
\ __= +-¢inthe stnging | Methanoic Acid | 96 & =1 8 7 |
R (C) Ascorbic Acid (D) Ethanoi¢ 8¢ (B) ST FAAE 8 Ia’:‘c l
93 ﬁ;_@mmﬁﬁﬁm%m ﬂ)miaﬁﬁﬁﬁﬁ*&? e
o b it w o & forg 48 e A 324 W (D) v i 3T A, TR tt
CTO ma.wmmﬁmm 97, ‘FemF RFASETAIR ?
l’*%tﬁm,aﬁnmmaﬂmﬁ%w {A)m:‘gﬁﬂ (B)ﬁﬁ?ﬂ?ﬂ“‘ﬁ?
£ v 3.5gm|mﬁsm3ﬂ@l10mﬁﬂ (C) weft e (D) GhAer
TrS e s.s T AR S 10 KA | g0 proaivfign # & R ey A et
1 S gt 7 T T T | o A e % TR 7
C A 3 (A) T - T
. foru form Al 1 IFEE@ R 7 iy ]
= In the England-New Zealand one day (B) A==~
) match. due to rain, England needed 324 (C) TiTRE — WETER
@) meharmnmbalion | QI
ing rate was 0, / : o
T e & increased to 8.5, It then declined | 99. T&m ;‘ﬂ‘:‘iﬁﬁ Vi
o 5.5 in next 10 overs and again rose to 7 b 2
in next 10 overs. To win the match now (A) mmmgqﬁmw |
what average is needed ? (B) Wﬁwmmt 1
(A) 7.75 meﬂm-mﬁﬁ
(B) 8.25 T 2 ot R
(C) ¥ A 18 TEl/None of these (D) BFER =affd wRWT gl % qW
@) 675 - PR
94, PreffEmddFR@mARAFTAAR? | 100, Prfefan & & frm famen # ot 7=
Which of the following 1s in descending g%lﬂﬁ 4
? (A) TSR, FeeITRe, SAFUIT
(AT 9/13; 11/17; 5/8 (B) HeR, 9T,
(B) 5/8; 9319?}:1;1;{,; (@7 e, witrstor, frde
C) 1117, ) |
() 5/8; 11/17; 9713 ety R
MN2
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